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Answer Sheet

Total Points: 30 (15 multiple choice + 15 calculation&plotting)

Exercise 1. Multiple Choice (maximum points: 15)
Points: …….. / 15
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Exercise 2 (maximum points: 10)
Total Project Time (TPT) = ……………… days 
Exercise 3 (maximum points: 10)

Current schedule performance index (SPI) 
= ………………
Total current estimated time slip 
= ………………
Planned time to complete 
= ………………
Current estimated time to complete (ETC) 
= ………………
Current estimated Total Project Time (TPT)  
= ………………
Exercise 1: Multiple Choice (only one answer is correct)
	1. 
	A …….. schedule varance with …….. cost variance suggests a project running late with no overspend.
a) negative; zero
b) negative; positive
c) zero; negative
d) zero; positive

	2. 
	If one or more activity overruns and the responsible project worker is identified… 
a) the GANTT chart and the PNT should be modified (durations, deadlines should be revisited).
b) removing that person form the given work package is always the best choice.
c) impeachment should be clear and fast to protect the project deadlines and quality.

d) try to avoid recrimination (‘past is dead’).

	3. 
	Reducing activity durations by …. is the process when successor activities are started before their predecessors ended.
a) overlapping activities
b) increased risk
c) paralelled activities
d) the transference of resources

	4. 
	Moving a risk to someone (or some other unit or organisation) who is more capable of dealing with the problem is … .
a) risk avoidance
b) risk deferral
c) risk transfer
d) risk reallocation

	5. 
	Planning a project, the first document that should be developed from the list below is the …
a) SOW (statement of work)
b) WBS (work breakdown structure)
c) network diagram
d) responsibility matrix
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Calculation & plotting exercises (in the mid-term there will be 2 exercises) (max. points: 15)
Exercise 2
Given the following data, plot a Gantt chart for the full project with the minimum possible Total Project Time, and calculate the TPT. The final version of the Gantt should be plotted on the answer sheet. 
Number of identical project workers: 2 (names are X and Z)
Activities with durations: A (1 day), B (2 days), C (6 days), D (3 days), E (2 day), F (3 days)

Activities that can be done by 2 workers (duration reduced to 2/3): C, D, F
Possible overlapping: C (1 day before B ends)
Possible paralleling: A and B; E and F

Exercise 3
There is a project with a planned Total Project Time (TPT) of 120 days. The project consist of three non-overlapping work packages with a duration of 40-40 days each. After 20 days only 37.5% of the first work package is completed. Calculate the
· current schedule performance index (SPI)
· total current estimated time slip 

· planned time to complete

· current estimated time to complete (ETC)

· current estimated Total Project Time (TPT)
Answer Sheet
Total Points: 30 (15 multiple choice + 15 calculation)

Multiple Choice (maximum points: 15)
Points: …….. / 15
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	A
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	A
	9
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Exercise 2 
	activity
	duration
	resp. person
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11

	A
	1
	X
	 
	 
	 
	
	 
	 
	 
	 
	 
	 
	 

	B
	2
	Z
	 
	 
	 
	
	 
	 
	 
	 
	 
	 
	 

	C
	4
	X&Z
	 
	 
	 
	
	 
	 
	 
	 
	 
	 
	 

	D
	2
	X&Z
	 
	 
	 
	
	 
	 
	 
	 
	 
	 
	 

	E
	2
	X
	 
	 
	 
	
	 
	 
	 
	 
	 
	 
	 

	F
	3
	Z
	 
	 
	 
	
	 
	 
	 
	 
	 
	 
	 


TPT = 10 days

Calculation of the points: 
· Gantt framework = 2 points

· Any possible solution = 5 pts
· everything in its place 2 pt

· correct use of overlap 1 pt

· parallel activities 1 pt
· double worker 1 pt

· Godd solution with a maximum of 10 days = 3 pts
Exercise 3 
Current schedule performance index (SPI) 
= 15/20 = 0.75
Total current estimated time slip 
= 120 – (120 / 0.75) = -40
Planned time to complete 
= 120 – 20*0.75 = 105
Current estimated time to complete (ETC) 
= 105 / 0.75 = 140
Current estimated Total Project Time (TPT)  
= 20 + 140 = 160
